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QUESTION 1

An analyst receives the following screen when importing data from an Excel spreadsheet: 

Which of the following formats should the analyst select? 

A. Hmm 

B. HHmm 

C. hhmmss 

D. hhmm tt 

Correct Answer: B 

 

QUESTION 2

An intelligence analyst has been given an association chart with telephones and telephone call links. The analyst would
like to see the calls placed in time and date order, so the analyst decides to change the chart into a timeline. How can
the analyst change the telephone entities on the chart? 

A. Change the Entity Type to Theme Line 

B. Change the Entity Type to Event Frame 

C. Change the Entity Representation to Theme Line 

D. Change the Entity Representation to Event Frame 

Correct Answer: C 

 

QUESTION 3
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An analyst is creating an Import Specification. During the Assign Columns step, which task MUST be performed? 

A. Assign all the identities. 

B. Create more than one entity. 

C. Add additional entities and links. 

D. Assign all of the columns in the spreadsheet. 

Correct Answer: A 

 

QUESTION 4

Review the network shown here: 

Which entity has the HIGHEST betweeness centrality? 

A. Jennifer REILAND 

B. Heather JACKSON 

C. Abigail ROSS 

D. Edward INGRAM 

Correct Answer: A 

 

QUESTION 5

An intelligence analyst needs to be able to easily understand which calls are made within a short period of time of each
other, and when there is a big gap in time. As a result, the analyst decides to use a layout to re-space the links: 
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Which layout has been used? 

A. Ordered 

B. Theme Line 

C. Proportional 

D. Grouped by Time 

Correct Answer: C 
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